Graded Homework #2, due Friday, Sept. 5, at the beginning of class

Philosophy 2440: Symbolic Logic, Dr. Rupert

Part I. Symbolize the following argument using only the capital letters given in the dictionary. Make it clear which statement you take to be the conclusion, either by putting it at the bottom of a vertical list or to the far right on a horizontal list. (5 pts.)
If Jerry majors in philosophy, his career options are unlimited. If he majors in outer-space ceramics-making, his only option is to get a job with NASA. If a job with NASA is Jerry’s only career option, his options are limited. So, if Jerry’s options are to remain open, Jerry will major in philosophy. (Dictionary: P: Jerry majors in philosophy; L: Jerry’s career options are limited; M: Jerry majors in outer-space ceramics-making; B: Jerry’s only career option is to get a job with NASA)
Part II. Draw a parse tree for the following formula. Also, indicate the formula’s main connective. (five points)



~ (A &~ B) v[ (G  ~ B)  C]
